
Cálculo A
Integração por substituição

Calcule as integrais usando o método da substi-

tuição

1.

∫
3x(1− 2x2)10 dx

2.

∫
x2

(x3 + 5)4
dx

3.

∫
t dt√

2t2 + 1

4.

∫
x2 3
√

2− 4x3 dx

5.

∫
x + 1

(x2 + 2x + 5)2
dx

6.

∫
sin

t

3
dt

7.

∫
cos
√
x√

x
dx

8.

∫
x3 − 1

(x4 − 4x)2/3
dx

9.

∫
1

x3

(
1 +

1

x2

)5/3

dx

10.

∫
(2− t2)

4
√

6t− t3 dt

11.

∫
e2x+5 dx

12.

∫
x

x2 + 4
dx

13.

∫
2 sinx cos2 x dx

14.

∫
ex cos ex dx

15.

∫
esin x cosx dx

16.

∫
sec2 x

tanx
dx

17.

∫
x2
√

1 + x dx

18.

∫
1− sinx

x + cosx
dx

19.

∫
ex
√

1 + 4ex dx

20.

∫
e2x
√

1 + 4ex dx






